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Num:=4;
Fori:=1to 4 do
Begin
Write (num :10);
Num:=num+1;
End;
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num:=0;
while num < 64 do
begin
fori1:=1to 4 do
begin
write(num:10);
num:=num-+1;
end;
num:=num-+4;
end
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num:=8;
while num <64 do
begin
fori:=1to 8 do
begin
write(num:10);
num:=num-+1;
end;
num:=num-+3;
end

step:=8; TN DR YNNI 00N
? nUIDIN2 NRWD TUR



step:=8;
num:=step;
while num <64 do
begin
for 1:=1to step do
begin
write(num:10);
num:=num-+1;
end;
num:=num-+step;
end
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procedure print_table(step:integer);
{ 25w apm NIw —step =son nhapam avws )
{ step » 2O8nRm 2IMBRT MY DR vHDD IARm }
var
l,num:integer;
begin
clrscr;
gotoxy(1,10);
num:=step;
while num <N do
begin
fori:=1to step do
begin
write(num:10);
num:=num+1;
end;
num:=num-+step;
end;
end;
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. check _answer 1xpnoi 2y """ 22 71nonn 217)
( NPWRIT N°101N2 Wanwn N2WN DR 109 o

Begin {main}

end.

instructions;
num:=1;
guess_num:=0;
while num <N do
begin
print_table(num);
If check _answer=true then guess_num:=guess_num-+num;,
num:=num*2;

end;
If guess_num=0 then guess_num:=64;
clrscr;
gotoxy(20,20); writeln("Your number was....... ,guess_num);

gotoxy(20,22); writeln('Press any key to continue....");
readkey;
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procedure init_array( var a:array_typel);

£48..120 27702 29RIPR 29507 PR 32 BT TR 732 7w )
£ WRIMY - M RS}
var
b:array[48..120] of boolean;
l:integer,;
begin
for 1:=48 to 120 do bJi]:=false;
for i:=first to last do
begin
repeat
X:=random(73)+48;
until b[x]=false;
b[x]:=true; a[i]:=x;
end;
end;
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procedure print_table(a:array _typel);
SRR m9((48..120 ) 2998 PR 29507 Y 32 BT Tvn a o ovIs mvy )
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var
I,r,c:integer,
begin
Writeln;
1:=1;
forr:=1to 4 do
begin
forc:=1to 8 do
begin
write(char(ali]):5);
Inc(i);
end;
writeln; writeln;
end;
end;



procedure build_tabels (a:array_typel; t1,t2,t4,t8,t16:array_type2);
var
1,i1,i2,i4,i8,i16:integer; X,num:integer;
begin
i1:=0; i2:=0; i4:=0; i8:=0; i16:=0;
fori:=1to 31 do

begin
num:=i; Xx:=16;
repeat
if num >=x then
begin
case x of
16: begin
Inc(i16); t16[i16]:=a[i];
end;
8 : begin
inc(i8); t8[i8]:=ali];
end;
4 : begin
inc(i4); t4[i4]:=ali];
end;
2 : begin
inc(i2); t2[i2]:=ali];
end;
1: begin
inc(il); ti[il]:=ali];
end;
end;
num:=num-Xx;
end;
x:=x div 2;
until num=0;
end;

end;






